Name_________________________________________________ 

Exercises and Questions – 1

Exercises on the Classical Model

FE365 Fall 2002 Professor Schmitt – Due September 6th 

Chapter 3 Exercises: National Income: It’s Production, Distribution, and Allocation

1. Suppose that the aggregate production function for the economy is 
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(a) What shares of national income do capital and labor receive?

(b) Suppose that 
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. What happens to total output if the labor force 
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 increases by 20% (the percentage change in output)? What happens to total output if the capital stock increases by 50% (again, percentage changes)?

2. In this exercise, assume that the total output of the economy is fixed and that the factors of production are fully utilized.  Assume the two factors of production, K and L, are also fixed.  The economy is described by the following set of equations:
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(a) Solve for the level of consumption

(b) Solve for the equilibrium values of S and I.  Use this information to find the equilibrium interest rate.

(c) Calculate the amount of public (government) saving and private saving.

3. Now suppose that taxes are reduced by 20 to 80.  

(a) Calculate the new level of consumption.

(b) Calculate the new levels of national saving, private saving, and public saving.

(c) Calculate the new interest rate.

(d) Graph the original equilibrium and the new equilibrium in the financial market after the reduction in taxes.  Describe in words what happened when taxes were reduced by 20 to 80.
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